Tl 7S B W@ 04 T DD &l Y] ) AT 22
a1 aIfifes TR WH-2022-23 M
fawg : v s
W 315 "W FEI-12 it 40
e - 1. e e arfard

VI WEI01-11 - TR [Sifrergerress yv 1 3%
12-17  JfTAgaIeT®d WeH Very short Ansswer 23P

18—-20  ETHURICH® WY short Ansswer 3 3F
21-22  fEure Essay type Ansswer 4 IF

. A e dife SN @ afifsm @ wfi s frarefe 2 ?
(A) Cha=CH CH:Br (B) CeHs- CH: Br (CYCHs CH(CuIs, Br (D) CsH:-CH(CH:, Br
Which one of the-following compounds is more reactive towards SN reaction ?
(A) Cho=CH CH:Br (B) CsHs-CH: Br (C) CHs CH(CaHs Br (D) CoH - CH(CH:, Br

2. K=23x10"2MOI" §" Ry 4 Reies 9} afdfirar dife &) vgar Fifore-
(A) W sife (B) e wife (Okigkai (D) Feira sie
K =23x10" £MOI"' 8" What is the order for the given rate constant.
(A) First Order (B)Second Order  (C) Zero Order (D) Third Order
3. A9 fig v doni® g af sei i wrd & 2
(A)urganfera <™ (B)Pad g (C) viled) 2y (D)F[EN T Y
Which point defect density of solds decrases in shown -
(A) Metal exess defect (B)Frenkle defect  (C) Shottekey defect (D) Impuriny derec:
4. TR id e wfeReme?
A)TNEHRTRERTR B s A yafiw () amm (D)=

- Henery law depend on which factors -

(A) Nature of Gas (B) Nature of solvent (C) Temperature (DYAN ofthe ahov e
5. @RV 59 UER D BIA5S B IETER0 E 2

(A) T el (B) TRI¥Tet (C) e (D) §9ewA

Fog is the example of which type of Colorid.

(A) Solid sol (BB) Aerosol (CYGel I Emulsion
6. =49 am afygds pram g ?

(A) 37T Kinnos [3) Sred Kmno, () PN K ero (D &Y Kimnas

Bacyer's reagent is which of the following
(A) Acidificd Knmino: (B) Aqueous Kmnpos (CYAGditied Kecro (DY 15 Alahne Nmne:
I
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14.

= 3 @ P B9 o WarEs W @ o w8 T8 -
(A) Wi Je (B) B8 3 sifaerge | a7 A
OUASARTNE (D) T 4 o TR aren goaeTenge HergRE TRIS B el faer &

Which of the following statements is false for lead storage cell-
(A)ItisaPrimary Cell  (B) The cathode is made up of lead (iv) oxide

~ (C) The cathode is made up of lead

(D) The electrolyte used is an aqueous solution fo Sulpuric acid.

wraeTse 71 4 Q fhwe frads ¥ wga fban v &

(A) 3T (B) vt (C) PR (D) forp
Which Metal is extracted from cryolite ore- .

(A)Iron (B) Aluminium (C) Copper (D) Zinc
ufeeeres g Ao g welkfa sffbm s 8-

(A) TS S8 drmers i (B) 301. VI8 wferearas

(C) TA. T8 armeas Al (D) ¥ F8) wfavarg=

Aldehydes and ketones shows which reaction
(A) Nucleophilic Addition

(C) electrophilic Addition

IR THHI B~

Arhenius equation is -
(AK= - eBRT (BYK-AeHT

SN' g SN2 affean A B1E A =R FIsT
Give any three difference between SN' and SN2 x4
ArT-9 (B)
1SS AR R T ? GaY F FAHASY )
What si Lanthanide contraction ? Explain in short.
Prafefeg Stgedase difte @ = falau-
(i) ST SFTHEBETR (i) FEANES
(iii) SR % (W1, 2 STST ) e (iv) TESE
Write formula of given Coordination Compound

(1) Tetraamminediaqua cobalt (I1I) Chloride
(ii) Dichlorobie (ethan, 1,2 diammine) platinum (iv) Nitrate

ﬁwﬁ{ﬁqmﬁﬁmmﬁﬁﬁemﬁ%ﬁwwﬁ?ﬁqﬂmﬁaﬁﬂﬁﬂ*
(1) IA e (2) BiTd Ud aete® TS ‘

Give the suitable test for differenciate between pair of compounds -

(1) Propanal and Propanone (2) Phenol and Benzoic acid

(B) Electrophilic Substitution
(D) nucleophilic Substitution

(C) K=ABEAIRT (D) K=e-E2RT
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15.  f=ferlRas @ ww | fIRaT — Write the correct order for following -
(1) &g wgen © Bed A | Decreasing order of Basic strength-
-« CsHsNH2, CeHsN(CH:):;, (C:Hs): NH T4 CH: NH:
(2) 3r=Fe @ dga W9 H (ii) Increasing order of Acidic strength :
CH:Cha(Br) CooH, CHs CH (Br) CH:CooH, (CHs): Ch CooH, CH; CH2 CH: CooH
16. =3 ofafta FIfe— Define the following :
(i) TTsDETSR® 9y (i) IeEe Oy
(1) Glycosidic Bond (11) Peptide Bond or Linkage
7. e & el Hifg 9 99 yeR 9a13v)
Define the adsorption of How many types of Adsorpton.
H-9C
18.  Fr=iforiaa agas! @ vadd! @ A4 I wvm fofay g sfifea fafae-
(i) S ‘ (i) SPH (iii) TS —6,6
Write the name of monomer and structure of following polymers and also give reactions.
(1) Buna-s (i1) Decron (i) Nvlon 6, 6
19. = 9= Gl ey %’ﬁﬂ— Write short note on given name reaction
(1) drida iR arfafa Carbylamine Reaction
(i) ETHH armTgS Afafdar Haffmann Bromaide Reation
(iii) &AW HNfFAW Cannizzaro seaction
20. HIRUI AN -
(1) CIF; SufRaa ¥ 9afd F Cls =8 7491 ?
(2) qHHOT Fed WA T a8 ?
(3) TR DA —1 ATeGIHv1 Irgw] wea el & wafd = TS+, 43, +5 991 +7
HTRABRY] ATy W welfa s e a4l 7
Give reason -
(1) CIF; exist but F Cls does not exist explain why ?

(2) Transition Elements are colourful explain why ?
(3) Florine shows only-1 oxidation state While ather Halogenes shows +1,+3 +5 and +7 ouidation

state why 7
21, (i) 9T g IO B I[F qA15 —
(i) Fifret (Ni) o1 @ wrfgvor & forg ®1= Uehs o g € |
(iii) TP &a B emf gReem iy R FrafoRaa sfifira a0 ¥ 9ot B Cell mam
Etcell =1.05 volt.
Ni(S) + 2A£®(0.002m) — Ni +2(0.160m) +2A8(S)
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() Write the formula of vant Hoff's factor, -~
(i1) Which process is used for purification of nimetal :
(iii) Calculate the emf of a cell in which following Reaction is takes place, value of E® Cell is E?
Cell=1.05 Volt. : -
Ni(S) +2Ag%(0.002m) — Ni +2(0.160m) + 2Ag(S)

391 OR _ T
(i) SngE=a Tl o wWe &y _ 1
(i) TRTH HAAN B W P ‘ 1
(i) 5o IR ) AT Naos () - 2Noz+ Veon(g) W 318K TN, 0, ) WrePres <=z 1.24
x 10 Mol L' 2t =i} 60 firfie % Iuia 0.20 x102, MoLL ! Y2 77§ 318K TR 7 Rexias ) 7or
C B!

(i} Explain ambidenate rigand.
(ii) Explain Electrophoresis. |
(i11) Calculate the rate constant for a first older reaction N, O, (g) — 2ZNO2x(p) + 202(g)

in which initial concenteration 0of N20s at 318K is 1.24 x10-2, MoLL ! after 60 minutes it remains
0.20x 10" MOIL"at318K.

(i) e i
{n)ﬁ:&ﬂmaﬁﬁm ,

‘ (m)wq'é‘(mreﬂzﬁ ﬁﬁwmq&wq&%ﬁﬁaﬁwﬁwﬁ OH amﬂémam'cﬂﬁ?

(iv) IMAIEEHTA a1 W AEedEid 3 ) oo 4 sl fergan w9 2 aen wi ?

(1) Haloform Reaction.

(i1) Hunsdiecker Reaction

(lit) Among the isomegic primary, secondary and testiary alcohols which grves easily oH®ions

and why.

3P OR
(i) YT D TCHAPB ) AR - 1
(i) wR e fremrd '
(iii) A A !
(iv) o7et 4 faery feerfrs @ <M garsu) | 1

(i) Explain the vulcanisation of Rubber.
(i) Antiseptics and Disinfectants:

(i) Artificial Sweetening Agents.

(iv) Which vitamins are soluble in water,

CEE





